Name: __________________

Hour: _______

Two Rivers that Refuse to Mix

Directions: As you read, complete the chart below comparing the two rivers in Brazil.

	Property or characteristic
	Rio Negro
	Amazon
	Reason for the difference 
(if stated in the article)

	Color
	
	
	

	Flow rate
	
	
	

	Temperature
	
	
	

	pH
	
	
	

	Density
	
	
	

	Fish
	
	
	

	Animals along the banks
	
	
	


Two Rivers that Refuse to Mix

POST READING QUESTIONS
1. Why is the Rio Negro water dark?

2. What acid is produced by decaying organic matter along the Rio Negro?

3. Does the Rio Negro’s pH of 3.5 make it acidic or basic?

4. Compare the acidity of water from the Rio Negro to water in 

a. A healthy lake. 

b. An acidic lake.

5. Name four ways the Rio Negro’s chemistry affects plants, animals and people.

6. Name four differences between the two rivers that explain why their waters don’t easily mix.

7. Besides reducing the variety and number of species of plants and animals living in the Rio Negro, what four other effects are produced by the decaying plant material?

KEY: Two Rivers that Refuse to Mix
1. Why is Rio Negro water dark? 

Water in the Rio Negro is dark because of slowly decaying plant material.

2. What acid is produced by decaying organic matter along the Rio Negro?

Humic acid is produced by decaying plant matter along the Rio Negro.

3. Does the Rio Negro’s pH of 3.5 make it acidic or basic?

The Rio Negro’s pH of 3.5 makes it very acidic.

4. Compare the acidity of water from the Rio Negro to water in 

a. A healthy lake. 

b. An acidic lake.

A comparison of the acidity of water from the Rio Negro and lakes shows that

a. Water from the Rio Negro is more acidic than water from a healthy lake (pH = 3.5 vs. pH = 6.5).

b. Water from the Rio Negro is even more acidic than water from an acidic lake 
(pH = 3.5 vs. pH = 4.5).

5. Name four ways the Rio Negro’s chemistry affects plants, animals and people.

Four ways the Rio Negro’s chemistry affects plants, animals and people are:

a. Only about a dozen species of fish live in the Rio Negro, compared to hundreds in the Amazon.

b. Since fish for food are scarce in the Rio Negro, only about 250 species of animals live along the Rio Negro, versus thousands along the Amazon.

c. People living along the Rio Negro have more limited resources (fewer animal species to hunt and eat) than along the Amazon.

d. Almost no mosquitoes live along the Rio Negro, vastly reducing mosquito-borne diseases there.

6. Name four differences between the two rivers that explain why their waters don’t easily mix.

Four differences in the two rivers’ waters that explain why they don’t mix are: 

a. Velocity of river water

b. Temperature

c. Acidity

d. Density

7. Besides reducing the variety and number of species of plants and animals living in the Rio Negro, what four other effects are produced by the decaying plant material?

The four other effects produced by decaying plant material are:

a. Decaying plant material builds up on the bottom of the river, thereby raising the floor of the river, making it shallower than the Amazon. 

b. This slows the rate of flow of the river. 

c. The slower rate of flow and the shallower water allows the sun to heat the river to warmer water temperatures than those of the Amazon. 

d. And warmer temperatures increase the solubility of the decayed material, thereby increasing the density of the waters of the Rio Nero compared to that of the Amazon.

